
Òåìà 4. Ìåòîä Ãàóññà.

Ïðàêòè÷íå çàíÿòòÿ

Âïðàâè äëÿ ðîáîòè íà çàíÿòòi

Ðîçâÿæiòü ñèñòåìó ðiâíÿíü ìåòîäîì Ãàóññà:

1)


2x1 + 5x2 − 8x3 = 8,
4x1 + 3x2 − 9x3 = 9,
2x1 + 3x2 − 5x3 = 7,
x1 + 8x2 − 7x3 = 12.

2)

 3x1 − 5x2 + 2x3 + 4x4 = 2,
7x1 − 4x2 + x3 + 3x4 = 5,

5x1 + 7x2 − 4x3 − 6x4 = 3.

3)


x1 − 2x2 + 3x3 − 4x4 = 4,

x2 − x3 + x4 = −3,
x1 + 3x2 − 3x4 = 1,

−7x2 + 3x3 + x4 = −3.

4)

 x1 − x2 + x3 − x4 = 1,
x1 − x2 − x3 + x4 = 0,

x1 − x2 − 2x3 + 2x4 = −0, 5.

Âïðàâè äëÿ ðîáîòè âäîìà

1)

 2x1 − 4x2 + 3x3 = 1,
1x1 − 2x2 + 4x3 = 3,
3x1 − 1x2 + 5x3 = 2.

2)

 2x1 − 4x2 + 5x3 + 3x4 = 0,
3x1 − 6x2 + 4x3 + 2x4 = 0,

4x1 − 8x2 + 17x3 + 11x4 = 0.

3)


4x1 − 3x2 + x3 + 5x4 = 7,
x1 − 2x2 − 2x3 − 3x4 = 3,

3x1 − x2 + 2x3 = −1,
2x1 + 3x2 + 2x3 − 8x4 = −7.

4)

 2x1 − x2 + 2x3 = 1,
3x1 + x2 + 3x3 = 4,

2x1 + 2x3 = 3.


